normalized X2

[ normalized x? probability |

1g - Entries
107K -
102Ef -
10°E] -
10Kf -
10k - :
91[):6 [ | 1 1 1 ? 1 1 1 1 9 1 1
T T
[ @
.
09¥0—2"4 6 8 10 12 14 16 18 20 0999510203 040506070809 1
X Prob(x?)
m=_— DQM_V0001_R000000001__Global__mkFit_baselinel
=== DQM_V0001_R000000001__Global__mkFit_batchl
A3 -
5 :
o .
< 2.5 :
v :
o
(| S P TN e
o 015 1 1 i 1 1
8 :
24
0.95 i
3= T 0o 1 2 3
n
A3 - A n
2 [ : 2 18f-
S 25fcnennes eeeeeans e %< 1.6F-
v I : - v E
[ 1.4F-
- 12F
-
0.8F-
0.6F
0.4F
0.2F
o O
5
a4
0.5
107 1 1l0 1(l)2 (0 1C0'3 1072 107
pl AR(track, jet?



	Contents
	Page 1


